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BAsa AEYTF BEYT

gima 1000 lemmy 2 v 0 UhEER | EWEKR 2 v 2 BibEE
gomte 1090 lagmir 0 v 1 BaEER | BATC 2 v 2 £ETC
gama |20 | mmTc 0 v 1 EBETC | WhETC 4 v 0 HEWTC
gaptey 1200 |mgmir 3 v 0 BEEE |LbhEBIR 1 v 2 SiEEHE
gome 1290 ldamEE 1 v 2 BdEik | BATC 3 v 1 BETC
Foeils }_3:20 BpTC 2. vs 0 FEWTC | KETC 0 vs 0 LDHETC
g7ete |14 |mmmir 2 v 3 AEUBIE |LbhEBIR 1 v 1 BB
gepte [1440 |mamir 0 v 2 S@EEE | BiTC 2 v 2 BHTC
oA ES:ZO BETC 0 vs 4 UWLhHETC | KETC 5 vs 3 FHNUTC
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gipte (1000 lmmmik 0 v 3 LhEEK [EWEE 1 v 1 BiEK
goptey [1090 |ammir 1 v 2 BOEE |BETC 2 v 1 £ETC
gasta |10 lmhTc 1 v 0 BETC |UhETC 3 v 0 HEHATC
gaptey (1200 |mgmik 4 v 0 BEEE |LbhEBEEK 3 v 0 2Bk
gomta | 1240 @ik 0 ve 1 BE®E [BRTC 1 v 2 EHTC
FoHAE E3:20 BhTC .7 vs 0 MWTC |KETC 2 vs 3 LVHETC
g7ea | 1400 |mm@ik 2 v 0 MAWBIKR |LbEEE 3 v 1 BiER
gopta |40 lmamik 3 v 0 £EEE [BATC 1 v 2 EéTC
gosta | 1°20 lmmTc 0 v 1 LbETC |£ETC 1 v 1 4EWTC
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g8 AEYF BEYF

giae | Y0 |mmmik 0 v 1 BouEE |SEBE 4 v 3 EWEK
gopta | 90 |mamik 0 ve 2 LhEmE | BETC 2 v .1 AAWIC
F3HE EO:ZO BhTC 3 vs 2 REFETC |LWHOETC 1 vs 1 BITC
gage |10 lmmmin 1 v 1 S@EE |BEEER 4 v 0 BiEK
mopta |50 lMamBik 1 ve 2 LhEEE | BETC 0 v 4 £ETC
Feia }_2:20 LWhETC 3 vs 1 BdTC |BitTC 4 vs .0 FENWTC
g7ae |00 m@ETc 0 v 4 BibmK [EWTC 0 v 3 BBk
mema | 1590 [22TC 0 v 4 LhEER |BHETC 1 v 1 AEWEIK
gosa 1420 | LpETc 0 ve 3 EBHEE [BATC 0 v 1 SEER
TC (160 Vb & (2 i) B (3 o) 2 (A (i) B (5 {iz) e ( 6 i) A

S (1 i) R (2 ) 2 (31D Wb & (4 R0 (540 IRFE (64) Bk
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gipe | Y0 |mmmE 0 v 2 BOEE | 2EBK O3 v 2 ERER
moste | Y0 |mamiE 1 v 1 LhEBIR| BETC 1 v 0. FMTC
gapta |00 | mditc 4 v 1 £ETC | LWhETC 3w 1 B4TC
mastes |0 |mmmr 1 v 0 S | BeBIR 1 v 1 BiLEE
moaa |10 ldamEir 1 v 1 LhEEIR| BETC 1 v 2 RETC
moia | 1220 | LbaETC 0 ve 3 BHTC | BATC 2 ve 2 FAWTC
g7ae [0 a1c 2 v 1 AEWEE | AWTC 0 v 6 SEER
mama |0 | m@ETc 0 v 3 ®maEEm | BiTC 0 v 2 EEEK
gopta | 1420 | LbaTe 2 v 3 BAEIR | BATC 4 v 1 LhEEHE
TC (1R Wb (2f0) T (31L) W (Af) St (500) &FE (60 R

gk (140 AL (2 40) Wb & (3 47) B (4 A7) B (500 M (6 i) =




